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50cf  (183) 273 421 69.4 230 6.0 16 77 1000 @ 39
60M| O|& (2450 265 351 61.6 257 10.2 24 127 1000 37
SQIMEY
oE (315 17 235 352 441 156 51 206 1000 @ 32
QIR (622 222 375 596 = 307 8.0 16 96 1000 37
O|Z/EAH/AME  (62) 226 355 58.1 27.4 n3 32 145 1000 36
g8 O 0.0 1000 1000 00 0.0 0.0 00 1000 40
Z|E 8
Fetuw EYolst  (123) 236 317 553 260 154 33 187 1000 36
nSstw =Y (266) 180 320 500 @ 357 94 49 143 1000 35
Chstm =i o4 (596) 185 337 522 36.1 10.2 15 117 1000 36
RE/RSEH (15 133 333 467 | 333 6.7 133 200 1000 33
e ea)
ZE|/HZ/ARE (412) 160 335 495 376 104 24 129 1000 35
MH|A/ M7 | S/=2E (214) 243 327 | 570 @ 290 17 23 140 1000 36
SHY/FR/2E|/RA/7IEF (370) 192 327 519 343 103 35 138 1000 35
g/282 @ 0.0 250 250 750 0.0 0.0 00 1000 33
HYA 7t A5
2008t Ojgk  (165) 212 309 52.1 303 145 30 176 1000 @ 35
2000t24-4008H)  (268) 164 362 = 526 | 358 9.0 26 116 1000 35
400921-6002t24  (253) 206 383 | 589 292 91 28 119 1000 36
6002t Ol&  (189) 2011 323 | 524 370 10.1 05 106 1000 36
DE/REY (125 160 19.2 352 456 12.8 6.4 192 1000 33
7t& & R|oK kXt
AUCH (21 421 405 = 826 132 33 08 41 1000 42
gict (879 157 320 477 377 1.6 31 147  100.0 35
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HENE 2= Ol2/EH/AMEBR %) 71& & (o &

<H 5> X|O{of] CHE 21X| H

CH(36.1%)2F 60A| 0|AH(31.0%) AAAHCHO|M =10
BRIt Qle AR(43.0%) SO|IM MTHECZE =2.

-+

| (1,000) 42 186 228 473 273 26 299 1000 29
Yo
=y (485 47 177 225 447 295 33 328 1000 29
o{d (515 37 194 231 497 | 252 19 272 1000 30
o
19-294]  (188) 21 85 106 367 468 59 527 1000 25
30c  (188) 27 10.1 2.8 511 330 32 362 1000 28
40t (196) 41 173 214 551 219 15 235 1000 30
500 (183) 93 268 = 361 448 186 05 191 1000 33
60M| O|AH  (245) 33 27.8 310 482 188 20 208 1000 @ 31
SQIAEY
oE (315 29 111 140 410 41.0 41 451 1000 @ 27
QIR (622) 48 212 260 510 215 14 230 1000 31
O|Z/EH/AME  (62) 48 306 355 419 16.1 6.5 226 1000 31
g8 O 0.0 0.0 00 1000 00 0.0 00 1000 30
x|Z s
Zstm = 0[5 (123) 24 244 | 268 423 268 41 309 1000 29
158 EY  (266) 56 16.5 222 444 312 23 335 1000 29
oistm &4 o4 (596) 4.0 18.1 221 500 257 22 279 1000 30
RE/REE (15 0.0 267 267 333 267 133 400 1000 27
=
ZE/THE/ARE] (412) 36 18.2 218 481 274 27 301 1000 29
MH|A /A7 |S/=2E] (214) 51 196 248 | 453 280 19 299 1000 30
S/ E/2E|/RE/7|EF  (370) 43 184 227 478 265 30 295 1000 29
RE/RSY @) 0.0 250 250 250 @ 500 0.0 50.0 100.0 28
HYH 7t AS
2002HA Ojgk - (165) 36 18.2 218 473 273 36 309 1000 29
2002H1-4008F1  (268) 37 213 250 466 @ 261 22 284 1000 30
4002t21-6002H  (253) 28 213 241 514 225 20 245 1000 30
600THA Ol&  (189) 74 18.0 254 476 | 254 16 270 1000 30
RE/RSE (125 4.0 8.8 12.8 400 | 424 48 472 100.0 26
7tE & X|of 2txt
ACH (21 16 314 | 430 @ 455 10.7 08 16 1000 34
oict  (879) 32 168 200 476 = 296 2.8 324 1000 29
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HR(67.2%), 7= & X[ X7t

= 30|

- o

= SY HIE2 60M| 0[&4(69.8%) AHCH0M =11, EQLEE=E=
U= BR(826%) SOM HTiHoz =3
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N
g 717 250| B242 Hofo

et JEE gat A

°
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rr
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o
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rlo
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Base=%1A| tél)_'_
| (1,000) 63.8 36.2 100.0
AO-II:H
e (485 616 384 100.0
oy (515 65.8 342 100.0
A
19-29M]  (188) 527 473 100.0
oo (188) 585 415 100.0
40t (196) 684 316 100.0
50cf  (183) 67.8 322 100.0
60M| Ol&  (245) 69.8 30.2 100.0
SQIMER
ojg (319 571 429 100.0
REIS (622 67.2 328 100.0
OlZ/EA/AE  (62) 64.5 355 100.0
DE/REY (1) 0.0 100.0 100.0
£|E 5
=stm E 0[5 (123) 55.3 447 100.0
nSstn EY  (266) 62.0 38.0 100.0
oistw Z4 0l (596) 67.1 329 100.0
DE/RSY (15 333 66.7 100.0
Z
Z2|HZ/ARE (412) 65.8 34.2 100.0
MH|A/HA 7| S/2E (214) 612 3838 100.0
/TR 2E|/RA/7|EF  (370) 635 365 100.0
S/73Y @ 250 75.0 100.0
YA 7 AS
2002k Ojgk - (165) 60.0 400 100.0
2002H1-4008H2)  (268) 60.4 396 100.0
4002H2l-6000H]  (253) 704 296 100.0
6002t Ole  (189) 704 296 100.0
/28  (129) 528 47.2 100.0
7t& & R|OK kXt
ACH (21 826 174 100.0
alct (879 612 388 100.0
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m J|EFQIACEE HHA Hel & B71 A|MDt 1 FoIME, SX|2 AZES ST 5 Six 7|2

X|OfMIE] S X|Of 2t M2 7|2H0] /U2

(n=638)
60%
51.9%
50%
40% 35.4%
20 28.8%
(o]
21.0%
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- 2 gF E=2t OIE-IHIO|E}E oty
48 5%)0lM =11, DI=2(46.1%), thefw Z¢
< J}IEO|L ZIXE ESl HEHE ™
Z¢ 0]&4(40.0%), 715 & X|of

= 9-29A| 49.5%, 30CH 46.4%, 40CH
|é>(46 8%), e/ HE/A +$&(50 6%) SOf|A] MchO 2o
X7t Qe BR(59. 0%) :ou)q AT

SHC
S
S1YN
I_

<E7> X|0f 2 HE BE FR(E43E)

I‘E*%*JE
| (638) 51.9 354 28.8 21.0 147 13.8 6.6 10.2
)gtﬁ
2o (299) 50.5 411 281 231 16.7 1.4 8.0 7.0
o4 (339 53.1 304 295 19.2 13.0 15.9 53 13.0
oy
19-29M  (99) 44.4 495 323 18.2 131 13.1 7.1 4.0
3ocH  (110) 57.3 46.4 28.2 236 16.4 127 73 36
4ot (134) 52.2 485 24.6 216 1.9 104 75 2.2
50t (124) 55.6 315 387 226 16.9 129 6.5 48
60M| 014 (171) 497 12.9 234 19.3 15.2 181 53 281
SOIAEY
o  (180) 52.8 461 311 211 13.9 13.3 83 33
RIS 418) 52.6 333 289 211 14.6 136 6.0 1.5
Ol2/8H/AE  (40) 40.0 10.0 175 20.0 20.0 175 5.0 275
Z|E st
astu EYolst (68) 412 0.0 176 29 1.8 19.1 15 382
nEStWEYH  (165) 50.9 230 327 18.8 139 1.5 36 85
Cist Z 0l (400) 54.0 46.8 29.0 25.0 153 13.8 8.8 6.0
fetw EH o4 () 60.0 20.0 40.0 20.0 40.0 20.0 0.0 20.0
e
Zg/FME/ANEE (271) 53.9 50.6 262 24.0 16.2 14.0 85 44
Sk °H£§_{ (131) 519 252 35,1 19.1 145 12.2 6.1 6.1
R E;T%Evr (235) 494 234 281 187 132 14.5 47 19.1
RE/REH O 100.0 100.0 100.0 0.0 0.0 0.0 0.0 0.0
YR I AS
2002t Ojgk - (99) 515 13.1 253 15.2 1 15.2 3.0 253
2002H2I-4008H!  (162) 53.1 284 259 204 1.1 1 43 9.9
4002t4-6008H1 | (178) 573 \ 47.8 287 253 174 14.6 96 73
600TH Ol (133) 489 459 30.8 203 16,5 15.0 75 53
232 (66) 409 318 379 212 182 136 76 6.1
7t& & X[of 2txt
QACH  (100) 32.0 30.0 \ 59.0 13.0 20.0 16.0 6.0 12.0
oich  (538) 55.6 36.4 232 225 138 134 6.7 9.9
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(=) E Add
SER Sy

m—

=+ X|OHof| 2t ¥ A2 HEI} QCH= SH HIE2 0{40] 555%2 HA(47.0%) 20t =11, PE==
50CH(59.0%), ERIMENEZ = REIR(54.8%), SFHHEZ = CHetw EY 0[&(56.2%), XPEZ2 &= &e2|/HE/
AFRZE(56.1%), 7t& & R|0] 2tXPt Q= BR(66.1%) SOIM ATHHCE =3,
o LA 71 AS0| =2 HULZ(4002H 0|4 6002H O|TF 60.9%, 6002H21 0]AF 60.3%) X|0H0H| 2taH
A

21T 42 HEIHQICH SEO| HIZ0| 52

=<
=
=
AL

< 8> X|Ujof s 21 M HH g2

(Tl - %)
Base=Z1x| ‘ Al ‘ SHE] ‘ At ‘ A
()
T (1,000) 51.4 48.6 100.0
A-II:L=1
=M (485) 47.0 53.0 100.0
o1y (515) 555 445 100.0
Ay
19-29M| (188) 394 60.6 100.0
3ot (188) 58.0 42.0 100.0
40cH (196) 577 423 100.0
50 (183) 59.0 41.0 100.0
60M| Ol&  (245) 449 55.1 100.0
SOIAEY
o= (315 454 54.6 100.0
Rl (622 54.8 452 100.0
O|2/EH/AHE (62) 484 51.6 100.0
DE/RSEH (1) 0.0 100.0 100.0
£ 5 &t
et E¥olst  (123) 472 52.8 100.0
st &Y (266) 447 55.3 100.0
Chstm EA ol (596) 56.2 438 100.0
DE/RSYH (15) 133 86.7 100.0
A
Z2HE/MRE (412 56.1 439 100.0
ME|A/ A1 S/=2E (214) 523 477 100.0
SHMl/F2/2E/2E/7E (370) 459 54.1 100.0
RE/RSH ) 25.0 75.0 100.0
YA AS
2008K4 OJgE (165) 43.0 57.0 100.0
2008H4-4008Hd  (268) 50.7 493 100.0
4002t21-6002t21  (253) 60.9 391 100.0
6002k Ol&t (189 60.3 39.7 100.0
RE/RSY (129 312 68.8 100.0
7t& & X[of 2Xt
ACH (121) 66.1 339 100.0
oict  (879) 49.4 50.6 100.0

30



M2 A[2] T x|
At

Lk

olCte, Boig)
[} 3 sliehe 218 25 B2AFUAIL.

= X[0Hof| 25 21D Al HEI} It
H|20| 76 5% 74 =2 1 2o
ZAH48.2%) 59| 2.

AL S, g1 A2 FE = X0l oYY s S2 SEAke
Z N

SH
2= X[O§2] §Q1(49.2%), X|0H 715 X|2l(48.4%), X|O{2]

<32 6> xofof e} 213 412 HE(=4IE
(n=514)

80%  76.5%

60%
492% 484% 482% 48.1%

424%  418%
40% 36.4%
26.7%
20% I
0%

AOH  AoHel  AOHOES  Xofel  Xiof  XIof TS XIojol|Chet XIofBKE  XIoj i
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o ST SN
1
> Aiofol e @17 212 Fuh Ainh ofolel SE BB 300i844%) LYo T, MY
SRS e o0 6% S04 St
B 917 £50| £842 Folo] Ho) Xoh 712 A2 Kokel 34, Aok K12, Aof Fet il che
Y=t FB0| U

<H 9> X[Ofjof st ¥ N2 YH(E+SH)

(1 - %)

X|otoi|
Base=XlO ZRAFE  ARlc  AoH  xofel xlokel /o o
&5 S|UR} (W o @iel 34 X=Y M=ot
CH=H
T (514) 76.5 492 484 482 481 424 418 36.4 26.7
)\o-ltl:l
= (228) 750 50.4 452 52.2 46.5 412 47 36.8 27.2
04 (286) 776 483 51.0 451 493 434 420 36.0 26.2
A
19-29M  (74) 73.0 405 419 419 405 324 35.1 25.7 189
30cH - (109) 84.4 56.0 56.0 52.3 61.5 477 54.1 404 358
4ot (113) 69.0 478 57.5 47.8 451 46.9 434 416 283
50cH  (108) 75.9 537 56.5 574 51.9 491 481 44.4 324
60A| Of&  (110) 79.1 455 282 40.0 39.1 327 264 264 155
SR
oE (143 76.9 441 497 455 46.2 39.2 441 336 266
RIS (34 76.5 51.9 493 50.4 49.0 443 416 381 27.0
O|Z/EAH/AME  (30) 733 433 333 36.7 46.7 36.7 333 30.0 233
x| st
Setw EH 0ol (58) 724 44.8 328 44.8 44.8 36.2 259 259 17.2
DSstn EY  (119) 773 479 445 487 471 42.0 40.3 328 261
CHstm EY 0lAF (335) 76.7 50.1 52.2 484 487 433 448 391 284
RE/RSYE (2 100.0 100.0  100.0 100.0 100.0 100.0 100.0 100.0  50.0
e
22|/ HZ/ARE (231) 74.9 511 55.0 485 50.6 429 463 39.8 29.9
A/ AH*flg‘;/, (112) 741 545 50.9 50.9 536 482 50.9 429 277
SHMl/=E/2E| /2R
J|E} (170) 80.6 429 382 465 406 382 29.4 276 218
DE/RSE O 0.0 100.0 0.0 0.0 100.0 0.0 100.0 0.0 0.0
YA IR AS
2008k 02k (71) 789 423 338 40.8 423 352 282 296 183
2000H21-4008k)  (136) 77.9 419 441 419 441 39.0 441 287 228
400821-6002H21  (154) 77.9 51.9 51.9 494 50.0 429 416 396 312
6002t ol | (114) 737 553 58.8 56.1 54.4 4971 50.9 465 30.7
RE/RSE (39 69.2 59.0 46.2 56.4 46.2 46.2 333 333 256
7t & A[0K &tx}
QAUCH  (80) 70.0 40.0 51.3 438 488 413 50.0 463 30.0
oich  (434) 77.6 50.9 479 491 479 426 403 346 26.0
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! - ZE7| X[0f #H ZE HE ZH0| e Y HE2 40| 31.3%= =H4(20. 6%)95} =1,
SQIMEIEEE FHIR(29.9%), 715 & X0 tAVt = BR(40.5%) SOIM HthEez =
+ AHCHHE 2 = 40CH(34.2%)2t 50CH(35.0%) 7 CHE oAZCHol| His =27| X|of &+ QEI M 80| Utk=
SEelH[20| =2
<E 1> Z27| X0 2 HE H= FH
(Tl - %)
Base=2ix] ‘ g oict gict ‘ A
(H)
| (1,000) 26.1 73.9 100.0
A-Ilizd,
=2 (485) 206 79.4 100.0
0y (515) 313 687 100.0
A
19-294 (188) 16.0 84.0 100.0
30ty (188) 20.7 79.3 100.0
40ty (196) 342 65.8 100.0
50CH (183) 35.0 65.0 100.0
60| O] 4 (245) 249 751 100.0
SQIAEN
ojE (315) 20.0 80.0 100.0
gl (622) 29.9 70.1 100.0
O|Z/HH/Afe (62) 194 80.6 100.0
g/28Y (1) 0.0 100.0 100.0
x|Z 8t
&stul £ olst (123) 179 82.1 100.0
158tn =Y (266) 30.8 69.2 100.0
Chetm =9 ol (596) 26.2 738 100.0
DE/28Y (15) 67 933 100.0
2
ZE|/HE/A 412) 252 74.8 100.0
A1HIA/*C'>“L+/7I°/£:'='X' (214) 271 72.9 100.0
/=R 2E| /27| (370) 265 735 100.0
DE/28H @) 25.0 75.0 100.0
=t et
2002k ojgt (165) 212 78.8 100.0
2008HI-4008+ (268) 291 709 100.0
4002+H1-6002H (253) 29.2 70.8 100.0
6002kl 04 (189) 270 73.0 100.0
g/R8E (125) 184 81.6 100.0
7HE & |0 Bk}
AC (121 405 595 100.0
aict (879) 241 75.9 100.0
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- AEES Solf T27| X[0f 2 YEE HICt= SH HIES 014(64.6%), 50CH(75.0%), tdl/=2/2E| /22
7|EH69.4%) SOIM HTHEOZ =5,

- X27| X|of 2 MY ™= A=Z7 QlElo|2t= ==
40CH(34.3%), 0| =(36.5%), ZE|/HME/AREI(38.5%) SO 1’5[H7§.9§%%.

0|0
E
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Job
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HiT
mjo
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i
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K
-
W
(@]
X

<H 12> z=27| X|of 2 YE BE HJ=(5+8H)

Base==27| x|Of 2= [ Al L J}=0|L}
N HE 28t (H) - ZIX|
TR (261) 61.3 245 14.2 8.8 8.8 57 15 3.1
A‘Ili=1,
=M (100) 56.0 31.0 17.0 8.0 9.0 5.0 2.0 2.0
o (161) 64.6 205 124 93 8.7 6.2 12 37
o
19-294  (30) 433 333 6.7 10.0 20.0 6.7 0.0 0.0
30t (39) 59.0 30.8 77 10.3 5.1 0.0 0.0 77
4ot (67) 55.2 343 1.9 9.0 45 45 0.0 3.0
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